
405006Insert to Jun11/405006

General Certificate of Secondary Education
June 2011

Religious Studies 405006
(Specification A)
Religious Studies 
(Specification A) (Short Course)
Unit 6    St Luke’s Gospel

Insert

Instructions
 Do not write on the insert.  Any work on the insert will not be marked.
 Do not place the insert into the answer booklet at the end of the examination.



2

Insert to Jun11/405006

Part B

Do not write on this insert.  Any work on the insert will not be marked.

Do not place the insert into the answer booklet at the end of the examination.

Answer either Question B5 or Question B6 on pages 10 to 16 of the answer booklet.

There are 24 marks for each question.

EITHER

B5 Universalism

B5 (a) Describe what happened in the story of the Centurion’s Servant. (6 marks)

B5 (b) ‘The most important thing about the healing of the Centurion’s Servant is that it shows 
that Jesus came to save Gentiles.’

  Do you agree?  Give reasons for your answer, showing that you have thought about 
more than one point of view.  Refer to Luke’s Gospel in your answer. (6 marks)

B5 (c) The following characters appear in the Parable of the Lost Son (Forgiving Father): 

   the father 
   the elder brother
   the lost son.

  Choose two of these characters and explain their part in Jesus’ teaching about 
forgiveness.  Do not retell the parable.  (6 marks)

B5 (d) ‘It is impossible for Christians today to follow Jesus’ teaching about forgiveness.’

  Do you agree?  Give reasons for your answer, showing that you have thought about 
more than one point of view.  Refer to Luke’s Gospel in your answer. (6 marks)
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Do not answer Question B6 if you have answered Question B5.

OR

B6 The Suffering, Death and Resurrection of Jesus

B6 (a) Give an account of Jesus’ Last Supper in Luke’s Gospel. (6 marks)

  
B6 (b) ‘Instead of eating a last supper, Jesus and his disciples should have avoided his death 

by leaving Jerusalem.’
  
  Do you agree?  Give reasons for your answer, showing that you have thought about 

more than one point of view.  Refer to Luke’s Gospel in your answer. (6 marks)

  
B6 (c) Explain why the resurrection of Jesus is important for Christians. (6 marks)

  
B6 (d) ‘Jesus’ resurrection is true.’
  
  Do you agree?  Give reasons for your answer, showing that you have thought about 

more than one point of view.  Refer to Luke’s Gospel in your answer. (6 marks)

  

  
END  OF  QUESTIONS
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